

COMPOSITIO MATHEMATICA

ACHIM ZULAUF

On sums and differences of primes and squares

Compositio Mathematica, tome 13 (1956-1958), p. 103-112

http://www.numdam.org/item?id=CM_1956-1958__13__103_0

© Foundation Compositio Mathematica, 1956-1958, tous droits réservés.

L'accès aux archives de la revue « Compositio Mathematica » (<http://http://www.compositio.nl/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques

<http://www.numdam.org/>

On Sums and Differences of Primes and Squares

by

Achim Zulauf

1. Introduction

1.1. This paper is concerned with representations of an integer q in terms of primes p_σ belonging to given arithmetic progressions and squares g_τ^2 with given coefficients b_τ , i.e. with representations of q in the form

$$(1.1.1) \quad q = \sum_{\sigma=1}^{s'} p_\sigma - \sum_{\sigma=s'+1}^s p_\sigma + \sum_{\tau=1}^{t'} |b_\tau| g_\tau^2 - \sum_{\tau=t'+1}^t |b_\tau| g_\tau^2.$$

One or two of the four sums on the right hand side may be empty, but it is assumed that $0 < s' + t' < s + t$ so that at least one positive and one negative term are present.

We shall prove that if $s+t/2 > 2$ and if q satisfies certain trivial conditions, then there are infinitely many such representations of q . Moreover we shall prove an asymptotic formula for the number $N(q, n)$ of those representations (1.1.1) in which the sum of the positive and the sum of the negative terms do not both exceed n .

1.2. The method of investigation is a generalization of the method employed in my paper [12] which, in turn, is a generalization of Linnik's and Čudacov's modification of the classical Hardy-Littlewood method in Additive Number Theory (cf. [9], [2], [5], and [3]).

The notation is as much as possible the same as that of my paper [12], and results from this paper are quoted as they are required.

1.3. The special case $s = 3$, $t = 0$, i.e. the problem of representations of q in the form

$$q = p_1 \pm p_2 \pm p_3,$$

has already been dealt with by J. G. van der Corput [1] who, however, used his own variant of a method due to Vinogradov for the proofs. Vinogradov's method was also employed by H. E.

Richert [10] for an investigation of the more general case $s \geq 3$, $t = 0$.

The cases $s - s' = t - t' = 0$, excluded from the present paper, have been discussed in my papers [11], [12], [13], and [14].

2. Notation

2.1. Let $q, s, s', t, t', a_1, \dots, a_s, K_1, \dots, K_s, b_1, \dots, b_t$, be given integers, and

$$0 \leq s' \leq s, s \geq 1, 0 \leq t' \leq t,$$

$$\omega = s + t/2 \geq 5/2, \quad \omega' = s' + t'/2 \geq 1/2, \quad \omega'' = \omega - \omega' \geq 1/2,$$

$$(a_\sigma, K_\sigma) = 1 (\sigma = 1, \dots, s),$$

$$\eta_\tau = \operatorname{sgn} b_\tau = +1, \text{ or } -1, \text{ according as } \tau \leq t', \text{ or } \tau > t'.$$

2.2. Let p_σ denote an odd prime number satisfying

$$p_\sigma \equiv \varepsilon_\sigma a_\sigma \pmod{K_\sigma}$$

where

$$\varepsilon_\sigma = +1, \text{ or } -1, \text{ according as } \sigma \leq s', \text{ or } \sigma > s'.$$

Let g_τ denote an integer.

Let q' and q'' denote integers of the form

$$q' = \sum_{\sigma=1}^{s'} p_\sigma + \sum_{\tau=1}^{t'} b_\tau g_\tau^2,$$

$$q'' = \sum_{\sigma=s'+1}^s p_\sigma + \sum_{\tau=t'+1}^t |b_\tau| g_\tau^2$$

(one or two of the four sums on the right hand sides may be empty).

2.3. Let n be a sufficiently large integer, and let

$$N(q, n) = \sum_{\substack{q' - q'' = q \\ \min(q', q'') \leq n}} 1$$

denote the number of representations of q in the form

$$q = q' - q'', \quad \min(q', q'') \leq n.$$

Let further

$$v(q, n) = \sum_{\substack{q' - q'' = q \\ \min(q', q'') \leq n}} \prod_{\sigma=1}^s \log p_\sigma$$

and

$$\hat{v}(q, n) = \sum_{q' - q'' = q} r^Q \prod_{\sigma=1}^s \log p_\sigma,$$

where

$$r = e^{-1/n}, \quad Q = q' + q'' - |q|.$$

2.4. Let A' be a given positive constant, and

$$A = 2A' + 4(s+2), \quad A_1 = 4A + 38.$$

2.5. The symbols $0(\cdot)$ and \sim refer to the limiting process $n \rightarrow \infty$, i.e. $r \rightarrow 1$, unless otherwise stated. Instead of $g(n) = 0(G(n))$ we shall occasionally write $g(n) \ll G(n)$.

The constants involved in the 0 -notation may, and usually will, depend on the parameters defined in subsections 2.1 and 2.4.

2.6. Other notations will be explained at their first appearance.

3. Basic Identity

3.1. Let

$$F_\sigma(r, \alpha) = \varphi(K_\sigma) \sum_{p_\sigma} (\log p_\sigma) r^{p_\sigma} e^{i\alpha p_\sigma}$$

where φ denotes Euler's function.

Let

$$\vartheta_\tau(r, \alpha) = (|b_\tau|/\pi)^{1/2} \sum_{\sigma_\tau} r^{|b_\tau| \sigma_\tau^2} e^{i\alpha |b_\tau| \sigma_\tau^2}.$$

3.2. On expansion of the integrand we obtain easily

$$P\hat{\varphi}(q, n) = \frac{1}{2\pi} r^{-|q|} \int_C \prod_{\sigma=1}^s F_\sigma(r, \varepsilon_\sigma \alpha) \times \prod_{\tau=1}^i \vartheta_\tau(r, \eta_\tau \alpha) \times e^{-i\alpha q} d\alpha$$

where

$$(3.2.1) \quad P = \pi^{-i/2} \prod_{\sigma=1}^s \varphi(K_\sigma) \times \prod_{\tau=1}^i |b_\tau|^{1/2}$$

and C is an interval of length 2π .

3.3. We now dissect C into Farey intervals C_ϱ of order $T = \log^{A_1} n$. To each of these intervals C_ϱ there corresponds one, and only one, of the numbers

$$\varrho = \exp(2\pi i l/k) \text{ with } 1 \leq k \leq T, (l, k) = 1,$$

and $2\pi l/k$ is an inner point of C_ϱ (cf. subsection 1.12 of my paper [12]).

3.4. We thus obtain the formula

$$P\hat{\varphi}(q, n) = \sum_{\varrho} \frac{1}{2\pi} r^{-|q|} \int_{C_\varrho} \prod_{\sigma=1}^s F_\sigma(r, \varepsilon_\sigma \alpha) \times \prod_{\tau=1}^i \vartheta_\tau(r, \eta_\tau \alpha) \times e^{-i\alpha q} d\alpha$$

which henceforth will be referred to as the *basic identity*. (\sum_{ϱ} means, of course, $\sum_{1 \leq k \leq T} \sum'_{l(k)}$ where l runs through all positive integers less than and prime to k , or any set congruent to this set to modulus k .)

4. Lemmas

4.1.1. Let

$$\xi(r, \beta) = \frac{1}{n} - i\beta$$

and

$$\mathcal{E}_\gamma(r, \beta) = \frac{1}{\Gamma(\gamma)} \sum_{m=1}^{\infty} m^{\gamma-1} r^m e^{im\beta}.$$

4.1.2. LEMMA 1. *When $\beta \leq \pi$ we have*

$$\xi^{-\gamma}(r, \beta) = \mathcal{E}_\gamma(r, \beta) + o(1)$$

where γ is any real number.

Proofs of this lemma were given by Lindeloef ([8], nr. 66) and Kluyver [7] (cf. also Kloosterman [6], p. 25).

4.2. We now put

$$\beta = \beta_\varrho(\alpha) = \alpha - 2\pi i l/k.$$

4.3.1. Let $d_\sigma = d_\sigma(k) = (K_\sigma, k)$, $Q_\sigma = Q_\sigma(k)$ a solution of $kx/d_\sigma \equiv 1 \pmod{d_\sigma}$, $R_\sigma(k) = kQ_\sigma/d_\sigma$, and $N_\sigma(k) = +1$, or $= 0$, according as $(K, k/d_\sigma) = 1$, or > 1 .

For $\varrho = \exp(2\pi i l/k)$ let

$$f_{\varrho\sigma} = N_\sigma(k) \frac{\mu}{\varphi} \left(\frac{k}{d_\sigma(k)} \right) \varrho^{\alpha R_\sigma(k)}$$

where μ and φ denote Moebius' and Euler's functions.

4.3.2. LEMMA 2. *When $\alpha \in C_\varrho$ we have*

$$\psi_{\varrho\sigma}^*(r, \alpha) = F_\sigma(r, \varepsilon_\sigma \alpha) - \psi_{\varrho\sigma}(r, \alpha) \ll n \log^{-A} n$$

where

$$\psi_{\varrho\sigma}(r, \alpha) = f_{\varrho\sigma} \xi^{-1}(r, \varepsilon_\sigma \beta).$$

For $\varepsilon_\sigma = +1$ this lemma was proved in subsection 2.1.2 of my paper [12]. When $\varepsilon_\sigma = -1$ the result still holds since we then have $\varepsilon_\sigma \alpha \in C_{\varrho^{-1}}$, and $p_\sigma \equiv -a_\sigma \pmod{K_\sigma}$ in the sum for F_σ .

4.4.1. Let

$$S_{K,L} = \sum_{j=1}^K \exp(2\pi i L j^2/K)$$

and

$$g_{\varrho\tau} = k^{-1} S_{k, b_\tau i}.$$

4.4.2. LEMMA 3. *When $\alpha \in C_\varrho$ we have*

$$\theta_{\varrho\tau}^*(r, \alpha) = \vartheta_\tau(r, \eta_\tau \alpha) - \theta_{\varrho\tau}(r, \alpha) \ll n^{1/2} T^{-1/2}$$

where

$$\theta_{e\tau}(r, \alpha) = g_{e\tau} \xi^{-\frac{1}{2}}(r, \eta_\tau \beta).$$

For $\eta_\tau = +1$ and, consequently, $b_\tau = |b_\tau|$ this lemma was proved in subsection 2.2.2 of my paper [12]. When $\eta_\tau = -1$ the result still holds since we then have $\eta_\tau \alpha \in C_{e^{-1}}$ and $|b_\tau| = -b_\tau$.

5. Approximation

5.1. Using the last three lemmas, we shall now deduce an approximate formula from the basic identity for $\hat{v}(q, n)$. The deduction is divided into five main steps. We begin by modifying in three steps the integrals occurring in the basic identity. In the last two steps, which will follow in section 6, we shall evaluate the modified integrals.

5.2. First step. In the basic identity we replace the functions F_σ and ϑ_τ by $\psi_{e\sigma}$ and $\theta_{e\tau}$ and estimate the error which, as is easily seen, equals

$$\sum_{\lambda=1}^s \frac{1}{2\pi} r^{-|\alpha|} \int_{C_e} U_e^{(\lambda)}(r, \alpha) e^{-i\alpha\alpha} d\alpha + \sum_{\lambda'=1}^t \frac{1}{2\pi} r^{-|\alpha|} \int_{C_e} V_e^{(\lambda')}(r, \alpha) e^{-i\alpha\alpha} d\alpha$$

where

$$U_e^{(\lambda)} = \prod_{\sigma=1}^{s-\lambda} \psi_{e\sigma} \times \psi_{e^{(s-\lambda+1)}}^* \times \prod_{\sigma'=s-\lambda+2}^s F_{\sigma'}(r, \varepsilon_{\sigma'} \alpha) \times \prod_{\tau=1}^t \theta_{e\tau},$$

$$V_e^{(\lambda')} = \prod_{\sigma=1}^s F_\sigma(r, \varepsilon_\sigma \alpha) \times \prod_{\tau=1}^{t-\lambda'} \theta_{e\tau} \times \theta_{e^{(t-\lambda'+1)}}^* \times \prod_{\tau=t-\lambda'+2}^t \vartheta_\tau(r, \eta_\tau \alpha)$$

(for brevity the arguments are shown only if they differ from (r, α)).

Since

$$|F_\sigma(r, \varepsilon_\sigma \alpha)| = |F_\sigma(r, \alpha)|, \quad |\vartheta_\tau(r, \eta_\tau \alpha)| = |\vartheta_\tau(r, \alpha)|,$$

$$|\psi_{e\sigma}(r, \alpha)| = |f_{e\sigma} \xi^{-1}(r, \beta)|, \quad |\theta_{e\tau}(r, \alpha)| = |g_{e\tau} \xi^{-\frac{1}{2}}(r, \beta)|,$$

the analysis of section 3 of my paper [12] shows that

$$\int_{C_e} |U_e^{(\lambda)}(r, \alpha)| d\alpha \ll n^{\omega-1} \log^{-A'} n \quad (\lambda = 1, \dots, s),$$

$$\int_{C_e} |V_e^{(\lambda')}(r, \alpha)| d\alpha \ll n^{\omega-1} \log^{-A'} n \quad (\lambda' = 1, \dots, t).$$

Hence

$$P\hat{v}(q, n) = \sum_e \frac{1}{2\pi} r^{-|\alpha|} \int_{C_e} \prod_{\sigma=1}^s \psi_{e\sigma}(r, \alpha) \times \prod_{\tau=1}^t \theta_{e\tau}(r, \alpha) \times e^{-i\alpha\alpha} d\alpha$$

$$+ O(n^{\omega-1} \log^{-A'} n).$$

Putting

$$\Pi_e = \prod_{\sigma=1}^s f_{e\sigma} \times \prod_{\tau=1}^t g_{e\tau}$$

we obtain thus

$$P\hat{v}(q, n) = \sum_e \frac{1}{2\pi} r^{-|a|} \Pi_e \int_{C_e} \xi^{-\omega'}(r, \beta) \xi^{-\omega''}(r, -\beta) e^{-i\alpha a} d\alpha \\ + 0(n^{\omega-1} \log^{-A'} n).$$

5.3. Second step. Next we change the ranges of integration from C_e to $I_e = [-\pi + 2\pi l/k, +\pi + 2\pi l/k]$. The error thus made is clearly

$$\ll \sum_e |\Pi_e| \int_{(I_e - C_e)} |\xi^{-\omega}(r, \beta)| d\alpha$$

which is

$$\ll T^{\omega+2} \log n \ll n^{\omega-1} \log^{-A'} n$$

as was shown in subsection 4.3 of my paper [12] (note that there is a misprint in formula (4.3.1) of [12]).

5.4. Third step. We now replace the integrands by

$$\Xi_{\omega'}(r, \beta) \Xi_{\omega''}(r, -\beta) e^{-i\alpha a}$$

with error

$$\left\{ \xi^{-\omega'}(\xi^{-\omega''} - \Xi_{\omega''}) + \xi^{-\omega''}(\xi^{-\omega'} - \Xi_{\omega'}) \right. \\ \left. - (\xi^{-\omega'} - \Xi_{\omega'}) (\xi^{-\omega''} - \Xi_{\omega''}) \right\} e^{-i\alpha a}$$

which, by Lemma 1, is

$$\ll |\xi(r, \beta)|^{\frac{1}{2}-\omega}$$

since $\omega' \leq \omega - 1/2$, $\omega'' \leq \omega - 1/2$, and $|\xi(r, \beta)| = |\xi(r, -\beta)| \gg 1$.

Now

$$\int_{I_e} |\xi(r, \beta)|^{\frac{1}{2}-\omega} d\alpha = \int_{-\pi}^{+\pi} \left(\frac{1}{n^2} + \beta^2 \right)^{\frac{1}{4}-\omega/2} d\beta \\ \ll n^{\omega-3/2} \int_0^\infty (1+\gamma^2)^{\frac{1}{4}-\omega/2} d\gamma \ll n^{\omega-3/2}$$

since $\omega - 1/2 \geq 2$. By formula (4.1.4) of my paper [12] we also have that

$$(5.4.1) \quad \Pi_e \ll k^{-\omega+1/4} \leq k^{-9/4}.$$

The total error made in the third step is therefore

$$\ll n^{\omega-3/2} \sum_e |\Pi_e| \ll n^{\omega-3/2} \sum_e k^{-9/4} \\ \ll n^{\omega-3/2} \sum_{k \leq T} k^{-5/4} \ll n^{\omega-3/2} \ll n^{\omega-1} \log^{-A'} n.$$

5.5. Collecting the results of subsections 5.2, 5.3, and 5.4, and noting that $e^{-i\alpha} = \varrho^{-1} e^{-i\beta}$, we obtain the approximate formula

$$(5.5.1) \quad P\hat{\nu}(q, n) \\ = \sum_{\varrho} \frac{1}{2\pi} r^{-|a|} \varrho^{-a} \Pi_{\varrho} \int_{-\pi}^{+\pi} \mathcal{E}_{\omega'}(r, \beta) \mathcal{E}_{\omega''}(r, -\beta) e^{-i\beta a} d\beta \\ + 0(n^{\omega-1} \log^{-A'} n).$$

6. Singular Series

6.1. Fourth step. We now proceed to evaluate the integrals occurring in (5.5.1). On multiplying the series defining $\mathcal{E}_{\omega'}(r, \beta)$ and $\mathcal{E}_{\omega''}(r, -\beta)$, we obtain easily

$$\Gamma(\omega')\Gamma(\omega'') \frac{1}{2\pi} r^{-|a|} \int_{-\pi}^{+\pi} \mathcal{E}_{\omega'}(r, \beta) \mathcal{E}_{\omega''}(r, -\beta) e^{-i\beta a} d\beta \\ = \sum_{\substack{m_1, m_2=1 \\ m_1-m_2=q}}^{\infty} m_1^{\omega'-1} m_2^{\omega''-1} r^{m_1+m_2-|a|} \\ = \sum_{m=1}^{\infty} (m+q_1)^{\omega'-1} (m+q_2)^{\omega''-1} r^{2m}$$

where $q_1 = (|q|+q)/2$, $q_2 = (|q|-q)/2$.

Now, as $m \rightarrow \infty$,

$$(m+q_1)^{\omega'-1} (m+q_2)^{\omega''-1} = m^{\omega-2} + 0(m^{\omega-3})$$

and hence

$$\sum_{m=1}^{\infty} (m+q_1)^{\omega'-1} (m+q_2)^{\omega''-1} r^{2m} \\ = \sum_{m=1}^{\infty} m^{\omega-2} r^{2m} + 0 \left(\sum_{m=1}^{\infty} m^{\omega-3} r^{2m} \right) \\ = \Gamma(\omega-1) \mathcal{E}_{\omega-1}(r^2, 0) + 0(\mathcal{E}_{\omega-2}(r^2, 0)) \\ = \Gamma(\omega-1) (n/2)^{\omega-1} + 0(n^{\omega-2}),$$

by Lemma 1.

But, by (5.4.1),

$$\sum_{\varrho} |\Pi_{\varrho}| \ll \sum_{\varrho} k^{-9/4} \leq \sum_{k \leq T} k^{-5/4} \ll 1.$$

The approximate formula (5.5.1) gives therefore

$$(6.1.1.) \quad P\hat{\nu}(q, n) = \frac{\Gamma(\omega-1)}{\Gamma(\omega')\Gamma(\omega'')} \left(\frac{n}{2}\right)^{\omega-1} \sum_{\varrho} \varrho^{-a} \Pi_{\varrho} \\ + 0(n^{\omega-1} \log^{-A'} n).$$

6.2. Fifth step. Finally we extend the range of summation to infinity, i.e. we replace

$$\sum_{\varrho} = \sum_{1 \leq k \leq T} \sum'_{l(k)} \text{ by } \sum_{k=1}^{\infty} \sum'_{l(k)}$$

The error thus made is, by (5.4.1), obviously

$$\begin{aligned} &\ll n^{\omega-1} \sum_{k>T} \sum'_{l(k)} k^{-9/4} \ll n^{\omega-1} \sum_{k>T} k^{-5/4} \\ &\ll n^{\omega-1} T^{-1/4} \ll n^{\omega-1} \log^{-A'} n. \end{aligned}$$

Putting

$$(6.2.1) \quad \mathfrak{S}(q) = \sum_{k=1}^{\infty} \sum'_{l(k)} \varrho^{-q} \Pi_{\varrho} \quad (\varrho = \exp(2\pi il/k))$$

we obtain thus

$$(6.2.2) \quad P\hat{\nu}(q, n) = \frac{\Gamma(\omega-1)}{\Gamma(\omega')\Gamma(\omega'')} \left(\frac{n}{2}\right)^{\omega-1} \mathfrak{S}(q) + o(n^{\omega-1} \log^{-A'} n).$$

6.3. The series $\mathfrak{S}(q)$, known as *singular series*, has been discussed in my paper [13]. Here the following remarks may suffice.

An integer q is called *suitable*, i.e. suitable for representation in the form

$$(6.3.1) \quad q = q' - q'' = \sum_{\sigma=1}^s \varepsilon_{\sigma} p_{\sigma} + \sum_{\tau=1}^t b_{\tau} g_{\tau}^2,$$

if four trivial, but rather complicated, conditions are satisfied by q . For suitable integers q we have

$$\mathfrak{S}(q) > 0,$$

and it follows therefore from (6.2.2) that

$$(6.3.2) \quad \hat{\nu}(q, n) \sim \frac{\Gamma(\omega-1)}{P\Gamma(\omega')\Gamma(\omega'')} \mathfrak{S}(q) \left(\frac{n}{2}\right)^{\omega-1}.$$

For non-suitable integers, however, we have $\mathfrak{S}(q) = 0$. But these are of no interest since it can be shown by elementary methods that a non-suitable integer q is either not representable at all in the form (6.3.1), or $q - \varepsilon_{\sigma^*} p_{\sigma^*}^*$ is suitable in the above sense for representation in the form

$$\sum_{\sigma \neq \sigma^*} \varepsilon_{\sigma} p_{\sigma} + \sum_{\tau} b_{\tau} g_{\tau}^2$$

where σ^* and $p_{\sigma^*}^*$ have certain well-defined values (cf. subsection 8.2 of my paper [13]).

7. Theorem.

7.1. With the notation, and under the conditions, of section 2 we have the following

THEOREM. *The integer q can in an infinity of ways be represented in the form*

$$(7.1.1) \quad q = q' - q'' = \sum_{\sigma=1}^s \varepsilon_{\sigma} p_{\sigma} + \sum_{\tau=1}^t b_{\tau} g_{\tau}^2$$

provided that $s+t/2 > 2$ and that q is suitable in the sense of section 6.3.

Moreover, if $N(q, n)$ denotes the number of representations (7.1.1) with the restriction $\min(q', q'') \leq n$, then, as $n \rightarrow \infty$,

$$N(q, n) \sim \frac{1}{P\Gamma(\omega')\Gamma(\omega'')(\omega-1)} \mathfrak{S}(q) \frac{n^{\omega-1}}{\log^s n}$$

where P is defined by (3.2.1) and $\mathfrak{S}(q)$ by (6.2.1).

7.2. Proof of the theorem. Putting

$$B_m = \sum_{q'=m+(|q|+q)/2}^{\infty} \sum_{q''=m+(|q|-q)/2}^{\infty} \prod_{\sigma=1}^s \log p_{\sigma}$$

we can write

$$\hat{\nu}(q, n) = \sum_{m=1}^{\infty} B_m e^{-m(2/n)}, \quad \nu(q, n) = \sum_{m=1}^n B_m.$$

By a well known Tauberian theorem (cf. Hardy [4], Theorem 108) it follows thus from (6.3.2) that for suitable q

$$\nu(q, n) \sim \frac{\Gamma(\omega-1)}{P\Gamma(\omega')\Gamma(\omega'')} \mathfrak{S}(q) \frac{1}{\Gamma(\omega)} n^{\omega-1}.$$

This proves the theorem since it is an easy deduction that

$$N(q, n) \sim (\log n)^{-s} \nu(q, n)$$

(cf. subsection 5.1 of my paper [12]).

University College, Ibadan.

REFERENCES.

J. G. VAN DER CORPUT

- [1] Ueber Summen von Primzahlen und Primzahlquadraten, Math. Annalen 116 (1938), 1—50.

N. G. ČUDACOV (TCHUDAKOFF)

- [2] On Goldbach-Vinogradov's theorem, Annals of Math. (2) 48 (1947), 515—542.

G. H. HARDY

- [3] On the representation of a number as a sum of any number of squares, and in particular of five, Transact. American Math. Soc. 21 (1920), 255—284.

- [4] Divergent series, Oxford 1949.

G. H. HARDY and J. E. LITTLEWOOD

- [5] Some problems of partitio numerorum III, Acta math. 44 (1922), 1—70.

H. D. KLOOSTERMAN

- [6] Over het splitsen van positieve geheele getallen in een som van kwadraten, Dissertation Groningen 1924.

J. C. KLUYVER

- [7] Verallgemeinerung einer bekannten Formel, Nieuw Archiv for Wiskunde (2) 4 (1900), 284—291.

E. LINDELOEF

- [8] Le calcul des residues, Paris 1905.

JU. V. LINNIK

- [9] A new proof of Goldbach-Vinogradov's theorem, Rec. (Sbornik) Math. Moscou (NS) 19 (61) (1946), 3—8.

H. E. RICHERT

- [10] Aus der additiven Zahlentheorie, Journal f. Math. 191 (1953), 179—198.

A. ZULAUF

- [11] Zur additiven Zerfällung natürlicher Zahlen in Primzahlen und Quadrate, Archiv d. Math., vol. 3 (1952), 322—333.
- [12] Ueber die Darstellung natürlicher Zahlen als Summen von Primzahlen aus gegebenen Restklassen und Quadraten mit gegebenen Koeffizienten, I, Journal f. Math. 192 (1953), 210—229.
- [13] ditto, II, Journal f. Math. 193 (1954), 39—53.
- [14] ditto, III, Journal f. Math, 193 (1954), 54—64.

(Oblatum 15-8-55).